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GEOGRAPHY SSC-II
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C /D. Each part carries one mark.

(1)

(i)

(i)

{vi)

(Vi)

(viil)

(ix)

(x)

(xi)

(xii)

(xili)

Human Geography is the study of on earth.

A Mountains B. Climate

C. Man’s Activities D. Humanity

The first age of human evolution is called the age

A Bronze B. Stone C. Machine C. Atomic
About percent of world's population lives on 10 percent of land surface.

A 70 B. 80 C. g0 D. 100
According to an estimate in 2004, the total population of Africa was miltion.
A 885 B. 728 C. 549 D. 326
Which part of the continents are sparsely populated?

A Edges of continents B. Central parts

C. Northern parts D. Western parts

Population growth rate is less in developed countries where economy depends on:

A Agriculture B. Mining C. Industries D. Transport
A settlement with few houses and one or two shops is cailed:

A Farmstead B. Hamlet C. Village D. Town
Seftlements built around a central pointareknownas ___~ ~ settlements.

A Dispersed B Linear C. Nucleated D. Urban
The city that expands and merges with neighbouring cities is called:

A City B. Metropolitan city

C. Caonurbation D. Megalopolis

According to 1998 census _ percent population of Pakistan lives in rural areas.
A 57 B 87 C. 77 D. 47
According to an estimate. the population of world will be ____ billion by 2025

A 6 B 8 C. 10 D. 12
Which rays cause cancer and eye diseases?

A X-rays B. Gamma rays C. Uitraviclet rays D. Slanting rays
Which of the following scales is called, ‘International scale'?

A, Statement of scale B. Representative fraction

C. Linear scale D. Comparative scatle

Which of the following is a sign for “Spring"?

A. IS B O c. ..'L_ D. RH

In which of the following maps is large scale used?
A Cadastral maps B. Weather maps C. Retief maps D. Atlas maps
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GEOGRAPHY SSC-lI

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the
separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required.
Write your answers neatly and legibly.

SECTION - B (Marks 36)

Q.2  Attempt any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. (12 x 3 = 36)
{i Define Evolution of human geography.
{1} Name six branches of human geography.
(lif) Write the names of sparsely populated areas in at least three continents.
(v} What is meant by Population Growth?
(V) Define human settlements.
(vi) Define Primary Economic Activities.
(vii) Define and draw dispersed settlements.

(vili) What is the ratio of rural population in developed and developing countries of the world?

{ix) Draw and define Urban Morphology.

(x) Write about the biotic components of environment.
(xi) Write three steps to control pollution

(xii) Write a few lines aboul the importance of maps.
(xiii) Write three types of North.

(xiv)y  Whatis "Great Bear"?
(xv) Define scale. Also write its types.
{xvi) Change into R.F a. 1cm=4km b. 1cm=8km
{(xvi}  Draw conventional signs for the following:
a. Level crossing b. Marsh c. Orchards
(xviity  What are cardinal points?

SECTION — C (Marks 24)

Note: Attempt any THREE questions. All questions carry equal marks. {3 x 8=24)
Q.3  \Write a detailed note on urban settlements.

Q.4  Write a note on the distribution and density of world population.

Q.5 Write about the scope and range of human geography

Q.6  Write notes on any two:
(m Factors affecting population distribution

(1) Directions

(1) Functions of Urban settlements
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